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NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMI
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Read the following instructions carefully before you answer the quegtions

o. as given on Yyour

Please write your Roll .
ly (only one digit in oneé

Admission Card, very clgar
box).

W Example:
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IF ~J2- This question'
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T 8, v fafay (o@ dfdw § Bae TP IE)
SQIex

3|2|5

—

3 3]0]2|1|0|1]o

2. =W v uF ¥ @ 32 g &, oW &
T & fg @l B M E|

(7 pages are lef
3. YUgd U9 @I S Su-UAd 7 I g@r 3. One ovalfircle of correct answer should be
3wy 2y U RAect § F 98 qref darkened by the candidates with Blue Ball Pen of

W & diad /ga 4 A die U F TERT Bl corresponding question of the OMR sheet. If
25? SIFoTY | T8I Tt :{ gﬁ TR/ &R T scariher is unable to read the darkened oval/circle
gg o @ el v ol EaRnll thén all the responsibility lies on the candidate.

4. =G UHETA ¥ FHel 180 T his question paper contains 180 questions.
All questions carry equal marks.

A HE D T
" “TaTdl ;rﬁ’f 3 a7, go 2= wd 3 Except for linguistic questions, all questions are
(@"Tﬂﬁ) gﬁﬁ 1 printed in Hindi and English (Bilingual).
, 21 There is No Negative marking in questions.

afaRaa FE %o 7 fafag|

Note : Do not write nything anywhere in th¢ booklet except your Roll Number and Rough Work at the
place meanf for it.

NMMS / Page 1 of 32

Scanned with CamScanner



T U A A R T E TR

MAT - Q. No. (1 to 90)

MENTAL ABILITY — frpedi 3
Direction: Questions (1-4) :- Find out the frde: e (1-4) - faT T 13 e
missing term from the given alternatives, yg sifd difore | EGF
.- "ACB.BDC, ... 7. DFE EGF 1. ACB,BDC,.....2...., DFE, -
(1)  CFD 2 CDE . (1) CPFD (2) €D
3) CBD @) CED 3) CBD 4) CED
2. AFC.GLI MRO, SXU. ... 2.  AFC, GLI, MRO, SXU, ......70.......
(1) YDA 2) YCA 1) YDA 2) YCA
() YDB 4) YEB (3) YDB (4) YEB
3. 7.11013,17, 19, 23, wsessses Densninny 20 3. 7,11,13,17,19,23,.....2....., 29
I 27 2) 25 1 27 (2 25
Q) 26 @) 24 (3) 26 4) 24
4 0.3,8 ..., 24, 35, 48 4. 0,3,8, ... 0y 24,35, 48
(1) 10 2) 15 ‘ 1 10 2) 15
3) 12 @ 18 3) 12 4) 18
Direction: Questions (5-7) :- These questions Aer - gy (5-7) :- fev vy § s ¥
consist of a number series which contain a wrong L) T{@Tﬁ % 2oft g & TE § R U
term. This term is given as one of the four UT g 21 TE uT AR o wR Ree -
alternatives among four numbers given below. J Y Tg
The wrong term is - TP SRI&
3. 0.1,0.01, 0.001, 0.00000001,...... 5. 0.1,0.01, 0.001, 0.00000001,........
(1) 0.01 (2) 0.1 ' (1) 0.01 (2) 0.1
(3) 0.001 (4)  0.00000001 (3) 0.001 (4)  0.00000001
6. 1LV2V34E, ... O 1,V2,43,4,45,... ..
1 -5 (2) 4 : M 5 2 4
3) 1 4 3 ‘ 3 1 ‘ 4 3
7. 1,7,13,17,25,........... 7. L,7,13,17,25,.......
(1 7 (2) 13 1 7 2y 13
3) 17 4) 25 3) 17 4) 25 '
conite o Tow o o o dUeon PR (510 v e TR W ¢
from thc(:nher lh%ee i[1)1 tsome gvay.pFind out the ?;;{W ﬂ%ﬁq 3 e T& A frsy g, EXil
different group. SHE @1 gganfay | ;
8. (1) Sanitizer 8 e
(2)  Face Mask (2) o9 7Rp
(3)  Corona Virus () IR IrRy
(4)  PPE Kit | @ WNhE fe
% 2 9. () 25
(2) 10000 (2) 10,000
3) 100 3) 100
4) 1,000 4 1,000
10. @) zwr | 1. (1) zwr
(2) HEB (2) HEB
(3) BYW (3) BYW
4 TON 4) TQON
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1. How is Rohan's son related to the only 11,  Ryiet @) #6T & IR B g A BT IIEA
daughter of Rohan's mother's father—in- @ [ D R A aE 8?
law? (1)

(D Maternal Grandmother (2) ard
(2)  Paternal Grandmother @) 7
() Father's Sister @
(4)  Mother's Sister

12, Which relative of your's will your father's 12, 3[9@ qrq @) afeet 1 Aer amus b Reder

sister's son call his maternal grandfather? @1 T elrg?
() Mother (1) i
(2)  Father (2) focn
(3)  Sister (3) agd
() Paternal grandfather @ =@

13.  Mohan walked 12 m towards north. Then he 13, #tge 12 e Ier fwm @ iR =em| fw
turned right and walks 5 m. Then he turned iRl TRB SIS 5 Wex @dl| 30d 4%
in opposite direction and walks 10 m. Finally RAuda fRor 3 SR 10 Wex gar| d |
he turns left and walks 12 m. Now how many qrll TRE IR 12 Hex =l | 3fd 98 URMD
meters is he from the starting point? fig @ feeer 3R 27

(1) 13m 1) 13 9ex

(2) 10m @) 10 Hfrex

(3) Sm 3) 5 A

4 T7m @ 7 A
Direction : Questions (14-15) :- Find out the rder U= (14-15) - g @ g9 U faa
correct alternative of the questions based on the w mnRa ye=l @ U8 fAsew gﬁ'q I
dice figures.

‘PP H " “
The number on opposite side of the face 3H 2 'f ﬁqﬂﬁ Ug W
having the number 2 will be? grf?

(1) o (n o

(2) 5 2) 5

3 2 3 2

) 3 @ 3

PP E oy

The number on opposite side of the face diw 6 & AT yg W @)
having the number 6 will be? wrfl?

(n 2 (n 2

2) |1 2 |1

3 3 3 3

@ o ‘ 4 6
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: ay frea 2 €, Rrras
5 Sof # O Y
16. How many ‘2's* are there in the following 16, Fr=iferd ST‘-H% wq & A O3

number sequence which are preceded by ‘5’ e TEd S

but not immediately followed by ‘3°? 27

n 3 . .m 3

2 2 2 2

@) 4 : 3 4

@ 1 “ 1 . @ wEr e
17. What will be the number of the triangles in 17. fQg ¢ fors A ﬁpﬁ - s

the given figure?

2?

1\ N\ /[ \ N\

1 6 (1 6
2 7 @ 7
3 12 @3 12
4 10 ' @ 10 .
Direction : Questions (18-20) :- Find out the e : w9 (18-20) - Ry g faeat 1 & <
missing one from the given alternatives. qg P Sd BT |
18. 5:(M::17:26 : 18. 5:(7)::17:26
1) 13 1 13
2) 10 2) 10
3 14 3 14
4 9 - @ 9
19. 3:27::(7:125 19. 3:27::(7):125
1) 10 ' () 10
@ 5 B @2 5
3 9 ‘ ' 3 9
‘4 54 ) 54
20, 13:6.5::29:(7) _ 20. 13:6.5::29:(?7)
(1) 295 (1) 295
(2) 135 (2) 135
3) 145 - . 3) 145
4) 155 4) 155
Direction : Questions (21-23) :- These questions Few - w7 21-23) - PR w4 &

are based on letter series in which some of the TS 3R SR .
BY IER MG | UAqF
letters are missing. The missing letters are given Y S IS

TH r
in proper sequence in one of the alternatives fere g few T =R fadeai # 3wl

among the four given under each question. Find 1 31 ey RN
out the correct alternative for each question.
21. ab_ca_bcab_c_bbc 21. ab_ca_bcab_c_ bbe
(1)  bbbb (1)  bbbb |
(2) cbba ~ (2) cbba
(3) bbca (3) bbea
(4)  bbba (4)  bbba
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m _pc _Imk _ _dlmk _cd

22. m_pc_Imk__dlmk _cd 22,
(1)  kdpep (1) kdpep
(2) dkppe (2) dkppc
(3)  kdcpe (3) kdcpe
(4)  dkepe (4) dkepe
23.  _JHVPU __VPUJH _ _ 23. _JHVPU__VPUIH__
(I) PVHIU (1) PVHIU
(2) UJHVP (2) UJHVP
(3) JHVPU (3) JHVPU
(4) HVPIU : (4) HVPJU .
Direction : Questions (24-25) :- In the following e : ue (24-25) - fFr=forRaa weAl § ug
questions, visualise the image of the (am/g]e—q'/ﬁa) & gfafda <dor 4 ?{IE’T?F{
(]Iettcr/wnrd/piclurc) in the mirror, the position of F 2 egor @Y Refa & € 81 R g
the mirror is given. Choose the correct i fretl ~ gfafia gﬁ-q
from the given options-- SR H W -
24. ATHAKP l Mirror 24. ATHAKP [ wdor
) bAVHLY (1) bAVHLY
(2) 9AAHTA 2) 9NAHTA
3 GATHAN 3 9ATHAMN
, 4 PVYTHVA @4 PVTHbX
25. - Mi 5
N X Mirror 25. X N quur
M |27 M 127
(2) [\[\ 2 |p N
3) | 3
I\/'\ij @ |\N
@) X(\_l @ YA
Direction : Questions (26-28) :- In each of the fader s yw= (26-28) :- Fr=rfeaRaa weAt % uadis
following questions four figures are given. # ar—aR frm Ry v 2| 3 /A e fum
One of the figure does not match the rest of AT | Al TE Wrar | 99 B b7 98 FwHw
the figures. Find out the correct serial Td B |
number of that figure.
6. (1) PJ 6. 1 &
®) ®)
2 N (2) N
@) o)
3 |© 3 |o
iz (A
4) o 4) 9)
N N
NRAMSA Page 5 of 32

Scanned with CamScanner



27. 2.

(1 g 80 A
) 2 ) A
3) 9 3 A
4) ﬁ “@ @
28. (n 28. 1)
(2) (2)
3) 3)
C)) 4
Direction : Questions (29-32) :- Out of nine foader : yo= (29-32) :- & Q¢ @ & i @oey
«cells of square given, one cell is left blank H | TP GUS Well BIST 7TAT & 20T 39 [Gue)
and in the rest of the cells, numbers are # A fordl 7E € o frdT faftre
written which follow some rule. Find that &1 UTe el €, I9 9 @) S ww (2)
rule and the proper option for the blank cell gvs B v SR faseg g |
(?) '
2 M52 2 M52
27 [ 13| 2 27 13| 2
2173 21713
(1) 26 M 26
2 23 (2) 23
3) 24 3) 24
4 22 : @) 22
30 5T2073 N ST
416 |3 4 1 6|3
9127 ? 9127 2
(1 6 1 6
) 5 ) s
3 7 3) 7
@ 4 @ 4
NMMS Page6of32  ———
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M 3677 [25 e g2 25
4 1491 9 4 14919
64| 1 |16 64 | 1 |16
1) 44
-~ (1) 44
(2) 65
(2) 65
3) 81
4 18 € 8l
4) 18
32. 20127114 32. 20| 27 |- 14
219 (28 21928
17125119 17 12519
1 24 (1 24
2 22 2) 22
3) 23 3) 23
4) 26 : 4) 26
Direction : Questions (33-35) :- Two set of fader - e (33-35) :- 2l & <1 e fag
the figures are given. One set is of question MY &, T 99 wed foa den gavn SR =
figures another set is of answer figures. &1 8| v o @1 el ue w9 | eraRerd
Question figures are arranged in a sequence. frar AT & | SR R H 9 A v R @
One figure from the answer figures is to be TIT BT 2, S U R & HEEER S
selected such that it can be placed after the el o1 93 | 9afd 99 RE o7 98 HHIG
serfes of question figures. Find the correct o/ Ao
serial number of the selected answer figure. ;
33. Question Figures- 33. uwA -
o|o|0© v e 0@
Answer Figures- SR e ,
@ @ E©)
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34.  Question Figures- 34, ww fE-

AAIA DNAAIA

>

Answer Figures- IR fE-
I é (1) é
) é (2) é
3) é 3) é
C)) é ) é
35.  Question Figures- - 35. e fua—
0%|25|0a|%0 5% %5|64]%0
Answer Figures- IR -
O [z2 O[22
2) é? () 32
© [ © 2
4) 2? 4) Ecx)

36. What will be the angle between the hour 36. 1% 399 ol & W & W@ aik e @

hand and the minute hand of a clock at W & T f5ay b a1 @y BATT?

exactly 3 O’clock?

1 O

1) 90 1 90

(2) ]80 (2) 1800

3) 55 (3) 55°

4 o

@) 45 4) 45°
NMMS Page 8 of 32
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Rekha goes 3 kms North, then she turns right 37.

and walks 2 kms, then she turns right and
walks 3 kms. Now she is in which direction

from the starting point?
(1)
(2)
3)
)

East
North
West
South

Direction : Questions (38-40) :- In each
question there are circles. Certain numbers
are given inside/outside the circles according
to a particular rule. In each question one of
the circle has a (?) mark inside it. Choose the
correct answer to fill in the space marked (?)

from the given alternatives.

Yar 3 f5 A, SR @ AR Tel, iR ' afed
¥ R 2 A e, R a8 Qi i ok
3 fp. weh| o a8 WRME fag A fbw
feam % €7

m w

(2) SR

(3) uf¥em

@) <

fydy : sy (38-40) - W® weA H ga Ry
T ¥ | S o /IR v A g BY
@t 4 T ¥ | TAd H § UF g4 B AN
() fore R e &1 99 Raa ®IF 1A

3 forg W& fRwe 9T

B N4 4N\3 5\ 8. 1 N4 43 SN
1 22 (1 22
(2) 45 (2) 45
3) 54 3) 54
4 55 4) 55
39. 10@4 75 2 5@6 39. |0®4 7.5 2 5@6
5 7 1.5 10 8 3 5 7 1.5 10 8 3
(1 4 (1 4
2 6 2 6
3 1 3 1
4 3 . 4 3
40. 3 4
40. 3 4 | 0 0 2
1 0 0 2
(1 16 (1) 16
2y 20 2 iO
3 24 3 24 | .
(4) None of the above d) SR H A B T
NMMS Page 9 of 32
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' Ay Tl H, “MOBILE“a;‘T
41. 1In a coding language, “MOBILE” is written 41. I TH

as 13|529125, then how will “SIM” be 131529125 fer@n <Ardr g a1 "SIM” SH
written in that coding language? i w4 o FPR [T e
M 13919 (1 13919
2) 19913 () 19913
3) 15918 (3) 15918
@ 18913 4) 18913
42. If “HORSE" is written as “FMPQC”, then 42. 3f¥ “HORSE” @I “FMPQC” for@r wmy, &
“MARE” will be v«.;ritten as- “MARE” & for@r Smgen—
() LYQC : 1) LYQC
) LXPC 2) LXPC .
(3) KYQcC (3) KYQC
4 KYPC (4) KYPC
Direction : Questions (43-45) :- In the e - we (43-45) - Fr=foRaa wea A ()
following  questions  there g some % T e & T MGl #§ o Ty 2

relationship between two figures of the left TE rgwy (;;j D TR R A < Hfear 3
of (::). The same relationship exists between 2 A UF o 2l QU v e ¥y

the two figures on the right of (::), in which

| | SN 9 AP B 51T By |
one is missing. Find the missing figure from
the given alternatives.
43. Question Figure- 43. uH fam-—
A |G A 2 S HNHE
Answer Figures- ‘ IR -
(1) A 1) &
2) A (2) A
3) 3 [ A
= <
@ @ [
< <

NMMS Page 10 of_
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44. Question Figure- 44. v foa-

o @ || |:] ? a1 @) || ] 2
Answer Figures- TR -

¢} @ n @

@ 1@ > D

(3) .@ 3) @

“) @ @) @

45. Question Figure- 45. ¥ fam-
KR 2 "::::‘P
Answer Figures- IR -
| (1) (1)

(2) (2)
3) 3
4) C)

NMMS Page 11 of 32
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fa=a

46. TF — frd o gErR @1 ol @ -
(1) afew e gerEn 2)

3) =N aa @) @a ag-g@aN FEm (4) s k@ B
47. F=faRaa § 2 sifw &1 gatrmar 98 e -
(n =33 2) ™
(3) =g (4) <A
48. ﬁwﬁrﬁqaﬁﬁmmﬁ?ﬁw @ BN —
(1) @ (2) |I®
() wa . @ R
49. fafy weg # Sowf € —
1 sf 2 @
(3) q (4) arch
50. maﬁ%w?nmﬁ%&mw%—
@ = | @)
(3) fobar , ‘ (4) fadrgor
51. oo+l @) gfe @ oype T & -
(1) Prare ' (2) 3MaIIH
3) Jodel ) » @) gga_\,
52. RN W W Uy ® — |
M 3 | @ =
@) = (4) 3m
53. Wﬁmwwmﬁmwm%f
) g (2) SRIEA
C) @) e
4. W%ﬂm‘cjaﬁmmﬁ?
1) RRw | @
@ ds ) T
55. <19 3R G &) "I BT A1 AT —
(1) v&d @) .
(3) frar - @ <E
NMMS : Page 120f32 ~  ————
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56. gy 90 AT @M D AW T —

(1) eReaR W (2) BEREA AT

3) o v RAd (@) amrard IpTES gad
57, onfeaiRi w1 T R A B FET S 27

(1 TTRYR Al (2) R el

(3) AOTAR Nl (@) e AT BT A
S8, ST @) NET R AT WET YN o g4R BEf b AR 47

(n s - 2) faeed

(3) TRIER @) TRMR
59. A ¥ e faa i 8?

1y B A () iR W

3) W Rig areEs @) gEwed Ao
60. frua Qg S@ax MPpwr & A A iy T8

(1) gemr & | @) <@

(3) wounAR @ ' ' @) eI B

iy - fyp=fafed ey 1 UgH T W& 61 W 65 TP b SR AR —

“3RT TR ST Feel B O IO § & 8 | ofd: I SIS’ FHET Al 8 | T ISR
TG T I & d9ga 0 E; Fiife AT T @ e § 39 UF e kAl & e W
Wml%a@amﬁﬂmélwwmaﬁwﬁmﬁvﬁmm%ﬁﬁa%
FROT S 3 ORI T (@At @ urd)) ET| I ST AT IRTIA Ped & | W A¥r frar
w2 Tad ofeEd anT AR TR ¥ gud § S § S @ MR 692 e B o §
tﬁwéwa%@@mﬁﬁﬁﬁwﬁwﬁw%\mmﬁim%mﬁ%lwm
o SATE SR W fdE §1 U8 SR @ SR B Bl I ¥ | e W e sy B e
IR, AT ARG qAT IO RGN @ Y H o Bl |

61. mmﬁmmﬁwﬁ?

(1) fewrera 2) IRTEE

3) iR @) femae
62. ‘sredd’ faw W @ e 87

(1) Torrd 2) I

(3) RoRYE 4) w9
63. 3REc @1 AW omie de fewn

1y eEEiA | 2) st

(3) aral A @) Tl A
NMMS Page 13 of 32
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vl L ,
04 I O o w aive arrady ) atrard § —

(0 662 {29, (2) 082 fai.

3) 0620 i) @) 692 fa.
65, 3R w1 M ey e i A fonfsr 22

(e | 2) @

) uw (4) tfa

e~ Py yerior @) U WS i 66 A 70 a6 & IR DI —

SR IS RTINS

apfi-apfl ) oy anrr

WA N e A

aefl = g AT ai |
=Y A Yy,
Siferif, wieril, wyer e
T8 a1 Wer-yga—aw
W PR wfer w
ST U W I |

66.  wxa wlaar @ vafin i §?

() e Rig Ry (2) yhwrr R Prrer
(3) wRaw w qear ) Y g
67. gt wfaaier A avia & aeaw @ BR aar Rearm awar 27
(1) S | (2) e
(3) - ) g
68. @i @ fery srpae R @ -
(1) i | (2) @
(3) wavi @) g
69. Fifga-aferii fy aer mn @7
(1) @ISR nlf @ (2) 3merRN @i @)
(3) Ut il @) PRer @ @
70. WA @) wE A’ arquien @& g @ ve ¥ -
(1 ygel (2) W
(3) yegu @ Rfga
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ENGLISH

Read the following passage and answer the questions that follow (Q. No. 71-74)
One night the little Prince ‘Udai Singh’ was fast asleep in his bed, while Panna’s own child was in
her lap. She was singing softly to put him to sleep. At once there was a great noise in the palace.
Then a servant came running to say that Banvir had killed Rana Vikramajit and was coming to kill
the Prince.

Panna wanted to save the Prince Udai Singh. So she took up the little Prince and hid him in
a fruit basket and covered it with leaves. She told the servant to take it outside and hide it among
the trees. :

Banvir, the wicked man burst into the room, his eyes were red, his face was furious. He
roared and asked Panna where the Prince was.

71. Whom did Banvir kill?

(1) Vikramajit T (2) Servant
(3) Panna ' 4 None of these
72.  Where did Panna hide the little Prince? ‘
(1) Inherlap . 2) In a fruit basket
(3) In the bed (4) - Inthe room
73.  Panna was singing softly to —
(1) Put the little prince to awake 2) Put her own child to sleep
(3) Call the servant to come quickly (4) ‘Stop the servant coming into the room
74.  Who roared and asked Panna about the Prince?
(1) Vikramajit (2) Servant
(3) Banvir 4) Udai Singh
Choose the correct article for the blank space (Q. No. 75-76)
75.  Ignesious Was.......cccceveerrveennnns manager of a co-operative society.
1 a (2 an
(3) the 4) none of these
76. Inside the box, there was .......cccccevviiirecianns envelop.
(1) a () an
(3) the (4)  none of these
77.  Choose the correct preposition —
I arranged foracar ..o take you to the Hudroo falls.
(1) to (2) on
(3) in 4) with
78.  Choose the correct gender for the given word —
Fox
o 1) Ox _ (2) Lion
(3) Vixen 4) Mouse
79. Choose the correct plural for the given word —
Man -
(1) Men (2)  Mens
(3) Mans (4 Woman
NMMS : Page 15 of 32
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80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

Choose the correct opposite word for the given word —

Empty
(1) wide (2) long
(3) short (4) full
Choose the suitable degree for the blank space -
The river Ganga is ....cveeeeeee than the river Yamuna.
(1) long (2) longer
(3) longest (4) None of these
Choose the word which is misspelt —
- (1) encourage ' (2) expart
(3) strange 4) children
Choose the word which is spelt correctly — :
(1) pollute (2) plloute
(3) polute 4) plluote
Choose the similar word for the given word —
Sick
(1) * Small (2) Healthy
(3) Tiny @ 1
Choose the correct pronoun —
The Ministers and the Judges appreciated the King for «..coeuerveuenen wise decision.
(1) her 2) his
(3) their (€)) our
Choose the correct relative pronoun for the blank space —
When Piyush turned six, Mr. Panwar decided to send .........cceeeu to school.
(1) - her (2) them
(3) him “) his

Choose one word for the given words —
Something that reminds one of past events

(1) Memento (2) Reluctant
(3) Spectacular (€)] Sanctuary
Fill in the blank with correct word given below —
Swami Vivekananda had a Strong .........ccceeeee to regain the past glory of Bharat.
(1) . wages 2) afford
(3) relaxed @ desire .
Choose the word with a different sound of the underlined letters —
(1) kite A (2) right
(3) field (€)) sight

Choose the correct arrangement of words to make a meaningful sentence —
in a/ the old lady/ sitting / was / wheelchair
(1) The old lady in a sitting wheel (2)  Inawheelchair the old lady was sitting.
chair was.
(3) The old lady was sitting in a (4)  Theold lady sitting in a wheelchair was.
wheelchair.
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SAT = Q. No. (91 to 180)

91.  Example of Rabi crop is -
(1)  Maize
(2)  Soybean
(3)  Wheat
(4)  Cotton
92. The part of eye which gives specific colour
0 eye is-
(1) Cornea
(2)  Retina
(3)  Ins
(4)  Lens

93.  Food transportation in plants is conducted
by-
(1)  Xylem
(2)  Phloem
(3) Stomata
(4) Root hair
94, Process of blood filtration is called -
(1) Diffusion
(2) Osmosis
(3) Circulation
(4) Dialysis

95,  Which process is shown in the given

diagram?
l
p 1] ~— -\
{[ \,. ‘;/ \ / \‘::1 // \'
\ \' l |/ /
\ \‘ ‘.t '/‘AJ '/ ,/
\ 'l /
\\‘ \‘\f‘ (I:;j:“[f',‘ //
L N Y / ¥
) ")

(1)  Self -pollination
(2) Cross- pollination
(3) Fertilization

(4)  Dispersion

96.  Which organisms participate in Lichen?
(1)  Algae - Fungi
(2)  Algae - Bacteria
(3) Bacteria - Fungi
(4) Virus - Bacteria

91.

92.

93.

9.

96.

@) e wl FaTE

(1)  ¥awl

(2) e

3) g

(4) U

A7 T ag vnT it A9 @ Alre 1 gaE
G ¢ -

(1)  wiffan

(2) e
3)  ulRenfer
@) @i

ureut % @rer yaredt @1 uRags wRar @ —
(1) Sige

(2) e
(3)
@) ERE
I & g @ fafy weerd & —
(1) faaro
(2) URRRU
(3) uRzERT
(4) 3mrET

weRfa fra # wF) whvar uid T

27
Q\)i] r/

(1) @ — WO
(2) W — WO

(3) faveE

) w@H
mﬁﬁﬂ—ﬂaﬁaﬁmﬁmm‘r??
(1) darer - Hab

(2) dvarer — Shar
(3) Gﬂaltg — dddh
@ faury — S
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[} ' . -
"7, Which ope BCORnOW e eind sl 7, I RUREL [a) i) i
(h Py, () aae
() “l\l\\‘lil(‘ N k‘).’i’.--lll}v'

(H Rayon

AR
) Dacron

() e

98, Who s discovered blood  clieulmory 98, wa uleede @i st [y ay
System?! | (1 un Aol
(O Graham el (2) eredd Al
() Charles Babbage 0 aferm wrd
(R} Willim ||l|l\'(‘)‘ () offne Q(..“ l!‘ S
D Thomas Alva Edison
99, Freezing minture ds - 00, [pard) (e
(1 lee + Supar (1) 4 Y
(2)  lee+ Sal ) ans 4
(3 Salt 4 Supar ; (H b v
(h  lee+ Soda () a4 e
100, Which colour is given by Phenolphthalein in - 100, [ficaedeler endie s ol i g
basic medium? iy
(1) Pink () aend
(2)  Blue (2) el
(M) Red hy ol
() Yellow () hen
101, The  example o self-combustion 101, W Gt bl Gareev @ -
(Spontancous) is - (w1
() Carbon (2) W
(2)  Phosphorus R
(M)  Petrol (4)  dare

(<))  Diesel
102, Match Column Twith Column 11, Which of - 102, Fysiel&a alert 1 aen wias inoar e

the following option does not have a correct IS @l O RQaer ar Mo ad a9l
match? n? ~ :
Column | Column 1l Column 1 Column II
(1) Carbon monoxide €O () ardar e sifags . Co
(2)  Water HO; 2) o HO
(3 Carbon dioxide O,

(D e e slfangs o,y
() ey wid sifgs SO,
103, The process ol depositing the layer of one 103, [?lijl\i Y er Qv QI AT E R T i

() Sulphur dioxide SO,

metal on another with the help ol electricity URCE A@ Y @) fba ) e B -
is called -
(1)  Oxidation (1) affahan
5 - ) _
(2)  Nitration (2) gy

(3)  Electroplating

J QUIT Qs
(4)  Neutralization 3 R Aue

(4) g

NMMS Page 18 of 32
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104, Acid found in Indian Gooseberry (Amla)y - 104, 3ffael 3 areet uram Sirdn & —
() Ascorbic acid (1) vwnifd® ara
(2)  Citric acid (2) wgfe®w
(3)  Formic acid (3) wifif® ar
(4 Acetic acid @) vfufew are
105, Who discovered magnetic effects of electric 105, ferega ey @1 G YTd fiad gRT @
current? 7
(I)  Edison (1) vfea
(2)  Oersted Q2) I
(3)  Newton
@  Wwan 8; H‘}EW
106. Budding process is found in - 106. ¥ U@l ST @ —
(1) Hydra (1) wggr ¥
(2) Frog (2) e A
(3)  Amocba (3) andar F
) lnscct. ‘ @) P
107. InJapan, cyclone is called - 107. TsHATd H SO W FEd € —
(1) Hurricane (1 wRe=
(2) Tornado () e
(3) Twister (3) fRawex
(4) Typhoon @) ag‘q:\—«{
108. Chemical formula of rust is - 108. 7 &1 YIEEfAE AW E —
(1) Fex0; ' (1) Fe0s
(2) Fe (2) Fe
(3) FeO (3) FeO
(4)  FeSO4 (4) FeSO;4
109. Which organ is used for respiration in 109. WSferdl f&d 3T | vawe el &2
fishes?
(1) Gills (1 ey
(2) Trachea (2) N W™
(3) Skin (3)
(4) Lungs d) vHS
110. Digestive juice of stomach works in which 110. 3T &1 9T ¥4 {67 Aqq # SR Hwar
medium? 2°
(1) Acidic (1) ar=i
(2) Basic (2) &N
(3) Neutral (3) SeH
(4)  None of the above @) S F F B T
111.  Green house gases are - 11, &Ra 7 W § -
(1) Hydrogen, Nitrogen (1) TssIoH, ATgeeH
(2) Methane, Nitrous oxide (2) WA, I RS
(3)  Ethane, Hydrogen (3) CH, BESIHA
(4) Nitrogen, Methane 4) RS, MgH
NMMS Page 19 of 32
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11y,

14,

115,

116,

117,

118,

NMMS

R R RRRRRR—,——

WHICH bone 1 relared 10 b

(h Humero

(20 Vemu

(Y ik il
O Al ol the nbove

e plants, after fertilization (he

develops into

ovary

(nH  Row
(2)  Stem
(N Lenl
() Tl

Which one bs not a chemical change?

() Buming of paper

(2)  Muking of curd from milk
(Y Melting ol wax

() Rusting on iron

Non-metal found in liguid state at room
temperature iy -

(1) Mercury
(2)  Biromine
(3)  Chlorine
(4)  Sodium

The process ol artificially  producing an
identical cell or other living part or whole
organism is called -

(1) Metamorphism

(2)  Cloning

(3 Sexual reproduction

(d)  Fragmentation
Lxample of thermosetting plastic is -
(1)  Melamine

(2) Pv.C.

(3)  Polythene

(4) PIT.

Which one is not correct”?
Above 80 dB, the noise becomes

(n
physically painful,

(2)  The loudness of sound depends on
its amplitude,

(3)  Lion makes a high pitched roar.

(4) A dium  vibrates  with a low
frequency.,

- l’quc '20 nﬁ.’.

12,

113,

114,

116.

117,

118,

= e
el el wrer A wafe 27

(1) wprd
(2) W
(3) fefaur fisgen

gufa @il

4
! e dvsTed A RAafi

aredi 4 fame @

pren &~

(ny s
(2) Al
(3) ud

(4) wel N
aeran vl afkad= el 87

Wl @1 el

(n

(2) g A EE) B AT
(3) @1 fager

(4) @ W G STl

WY @ A U gd el ¥ urd S areh

arrg ¢ —

(1) uRrI
(2) i
(3)  aelds
4)  fsam

feiy sy @ f2rnT 1 ar= Shfae {reT areman
ol fia @y HRm wu A G wRA D
ufsbar «ur weelrd 7

(1) @R
(2) aelfi

(3) ©lffre S

4) wWeH

oiifer wnfiew o1 Igmeor & —
(1)  Herrrg

(2)

(3)  uichefs

4) M{H

[yt 3 4 @b ) a8 @2

(1) 80 dB W A, yaer ¥R YR @
fery weqre gar @
(2) =@ @ yaerar Sud amam w frk
el
(3) IR D G B AR AfE By 2|
@) @l w7 amgfy I B B 2
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Which one 1s not a process to increase

119. . 119, Frsr 3 @ @ ador ggr arelt ufiian 1
friction? e
G ing . ’ »
) I:S)OVII'IE ll’lc sole of.shoc. ) G[(ﬁ & Tl @R a1
(2) Using brake pads in the brake aresii & @ yonferar W a@ 4T @1
system of automobiles @) b'h , 7
(3)  Sprinkle fine powder on the ¢z o T
y board. SIEEtom (3) m ?ﬂ%‘ X el Urdsy ﬁ;t}«[»:'"
(4)  Kabaddi players rub their hands @ $ & feerdt g ERr ) B
with soil. ST |
120. The sequence of planets according to 120. ¥t 9 aadh 70 @ orga el @i 7 & —
increasing distance from sun is - a1 g, 'q?T\"l 5, ggzﬂ
(1)  Mercury, Uranus, Venus, Earth 2) T, I, 94 JEYT
(2) Mars, Venus, Mercury, Neptune 3) '&TI!{?'-W{ g'.a WTH
(3) Earth, Uranus, Mercury, Mars . @) ‘iq . uﬂ ‘FR‘*I
(4) Mercury, Venus, Earth, Mars 3.
121. The following situation is not necessary in 121~ wgfar # wa fiaf @ ggiferam fmior 3 fs
the formation of petroleum in nature by dead gRRefy smavas & € -
organisms- . (1) g ® srpERefy
(;) ;111.)slencc of air () $=
:3; p::: tempcfratu:e (3) o @ SuRafy
sence of water
( 4) I
(4) high pressure “@ o
122. Do this during a thunderstorm - 122. ofsa sizm & 9w A N —
(1) Lie on ground (1) “F W e
(2) Carry an umbrella (2) ©Tar odY Tl
(3) Sitin the open ficld 3) ol fgm 4
(4) If in a forest, take shelter under a @) afE a3 € o o gu & N IR
shorter tree o
123.  Which one is related to Newton’s disk? 123. e @ o fras wdfoa &7
(1) Gravitational force (1) Ty aa
(2) Magnetic force (2) gIHg ad
(3) Seven colours of light (3) WETI B A A
‘ (4) Laws of motion @) & fFm
124. First reserved forest of India is - 124. MR &7 HIH SRfErT a7 & —
(1)  Vindhyachal (1) (e
(2)  Shivalik (2) Rrafers
(3) Satpuda (3) wagst
4)  Aravalli 4)  SRTac A
125, Meter/second is international unit of - 125. HIeR/WPUS MRS 756 & —
(1)  Time L) %
(2)  Weight 2) MR @I
(3) Speed 3) =1 @I
(4) Distance @ Q@
YIS Page 21 of 32
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SOCIAL SCIENCE — _ 8~
126. The example of renewable resource is - 126. W e e
(1) Coal (1 @
(2)  Petroleum (2) WW
(3)  Wind energy 3 v
(4) Natural gas 4) QTZFFW" ™ 39
127. When is ‘Water Day’ celebrated? 127. ‘wa fe@d Eb'd AT S
(1) 22 April (1) 2230
(2) 22 March (2) 229
(3) 22 May (3) 227
(4) 22 January 4) 22 Fad
128. Most suitable method to prevent soil erosion  128. GIEACICUI A Al W 1 T @ fe
on steep slopes is - aife sugad fafd & —
(1)  Shelter belts (1) &9 HEcAl
(2) Contour ploughing (2)' e Y A
(3) Mulching 3) Hfea
(4) Terrace farming ) afedr z;zfa
129. The example of non-metallic mineral is - 129. 3fNfed® @il &1 SEMEXT & —
(1) Manganese (1) FHrEe
(2) Gold (2) ST
(3) Mica (3) 3HF
(4) Lead 4) <
130. What is a non-traditional source of energy?  130. Tl & IR GRRETG EAd a7 27
(1)  Nuclear power (1) 9RHIY Sal
(2)  Petroleum 2) ugiferaq
(3) Coal ) 3) m
(4) Natural gas @) W g
131. Which crop is known as the “Golden fiber™? 131. &% Wdier &1 et Yo 47 gy wirely 27
(1) Cotton (1) @urg
(2) Tea ‘ (2 ==
(3) Jute @) TeHEd
(4) Coffee @) T
132. According to census 2011, how muchis the 132. S=TvFT 2011 & AR, TR 71 .
average density of India’s population? (per BT 3 s X
square km) SR &7 fam &2 (ufey anf fa.#7)
(1 382 (1) 382
(2) 296 (2) 296
(3) 375 3 375
4) 352 ' @) 352
NMMS Page 22 of 32
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133,

134.

136.

137.

138.

139,

NMMS

What is the average height of Troposphere? 133,
() 13km
(2) S0km
(3)  80km
(4) 400 km
The example of local wind is - 134.
(1) Trade winds
(2)  Chinook
(3)  Westerlies
(4)  Polar
What are hot zone cyclones called in the 135.
United States of America?
(1)  Hurricane
(2) Tornado
(3)  Typhoon
(4)  Willy-willies
*Van lake’ is located in - 136.
(1)  America
(2) Brazil
(3) Iran
(4) Turkey
‘Kalahari Desert’ is located in - 137.

(1) North America
(2) South America
(3) North Africa
(4) South Africa

How many members are nominated by the 138.

President in the Rajya Sabha?

(1 12
2) 10
3 2

4) 11

From which Article, do citizens get the 139.

Fundamental Right to Life?

(1) Article-19
(2) Article - 20
(3) Article - 21
(4) Article - 22

einmise O ofTa Sars faah 27

(1) 13 fyAan
(2) 50 fxAm.
(3) 80 faA
(4) 400 fHA.
I yge 1 IETEI & —
(1) emlRe gg4
2) fr@
(3) uwsn
4) g

Surafeddiy amardl @1 wgad o HRET
W qar EHET S 87

(1) zRa=

(2) e

(3) T

@) fadh-fachs

4 2her Rea & —

(1) amRa® %

(2) i 7

(3) wWEH

@ gorH
"BTATEN Ao Rera & —

(1) ST mRer |

(2) =ferf smRer #

(3) ST BT A

@) <l e §

T W MUl gRT e e e
B 87

1 12
2 10
@) 2
@ 11
e W fiyerdr €7
(1) IgJT - 19
(2) 3T -20
(3) 3T -21
(4) I -22
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140.

141.

142,

143.

144.

146.

Who has the right to interpret the
Constitution? '

(1) Executive Assembly

(2)  Legislative Assembly

(3)  President

(4)  Judicial Assembly

Number of constituencies of Rajasthan
Legislative Assembly are -

(1) 200

(2) 220

3) 250

4) 300
The  Constitutional Head of State
Government is -

(1)  Chief Minister

(2)  Prime Minister

(3) President

(4) Governor
Which is not a part of Parliament?

(1) Lok Sabha

(2) President

(3) Rajya Sabha

(4) Governor
When did the ‘Clean India Campaign’
began?

(1) 2 October, 2014

(2) 2 October, 2015

(3) 2 October, 2016
(4) 2 October, 2017

According to census 2011, what is the
female literacy percentage in Rajasthan?

(1) 66.17 %
(2) 79.20 %
3) 52.12%
4) 25.50%

Minimum age required for the post of

Governor is —

(1) 30 years
(2) 25 years
(3) 35 years
(4) 40 years

140.

141.

142.

143.

144.

146.

i @ @ 1 s a8

(1) @rimfer

(2) cazenfusT

(3) =rgafa

(@) =rrifer

rorer fure 3 Frate eEl @ ey
3
1 2
(2) 220
(3) 25
4) 300
I TRER T Gaaire gl e @ -

(1) F=EA
(2) gaFTEHA
(3) wregufa
(4) ISgure
fr=1 3 1 B GG BT S ALl B7

(1) < : ‘

) wrgufa

(3) ST

() U .

W RA JFEET @) YesI @
887

(1) 2 3/eEr, 2014

(2) 23M[@EER, 2015

(3) 23[R, 2016

() 23R, 2017

SIFATOET 2011 & ¥R, NToReIT # Afel
QrerRar uferer faear 872

00

[ —

(1) 66.17 %
(2) * 79.20 %
3) 5212%
(4) 2550 %

AU ye W FAyfad e, wpErom omyg
AMAFH & — ‘

(H 30ag
(2) 254y
(3) 35af
@) 40ag

NMMS
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j47. From the following, which was the main 147

dynasty of South Indig?
(1)  Chola dynasty
(2) Gurjar - Pratihar
(3) Chauhan
. (4 Gohil dynasty

148. Kanhad Dev was the ruler of -
(1) Ajmer
(2) Jalore
(3) Ranthambore
(4) Mewar

149. The Battle of Dewair was fought in - .

(1) 1576 AD
(2) 1582AD
(3) 1590 AD
(4) 1595AD

130. What is the Army’s Vanguard?
(1) Front of the army
(2) Middle of the army
(3) Back of the army
(4) Entire army

151. The Fort of Gagron is located in -
(1)  Chittor
(2) Rajsamand
(3) Jhalawar
(4) Jodhpur

fr=ifra % @, afdmr TRa S 9@ ST
o—
(1) e 99
(2) TER - gfEr
(3) e
4) Tfed au
148. ®reg < wrgd A7 —
(1) 3FPR
(2) R
(3) IR
(4) WS
149, fav 7% gam —
(1) 1576%. 4
(2) 1582%. 4
(3) 1590%. ¥
) 1595%. ¥
150, [ @1 VERIES SR a1 Bral 87
(1) 591 &1 3pfrg A
(2) AT BT T 9T
(3) [ BT UG BT AT
@) gl &
151. TRA g Rerd & —
(1) fesirs 4
(2) oA H
(3) SeaTs H

) SagR A

152. The founder of Ramsnehi Sampradaya was - 152. OPTETE) HRTT @1 QAT B —

(1)  Saint Ramdas ji

(2) Saint Dariyav ji

(3) Saint Haridas ji

(4)  Saint Ramcharan ji

153, Abhaneri Temple is located in -

(1) Udaipur

(2) Jaisalmer

(3) Dausa

(4) Karauli

NMMS

(1) < YW St A

(2) ¥a TRama ot |

(3) da sRaEm St A

(4)  dl IOTEROT S A
153. omir wfew Rerd € —

(1) STUR A

(2) SRgerR #

(3) <

@) @ |
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S TR BT T & -

154. Chaitanya Mahaprabhu is related to - 154,
(1)  Maharashtra (1) WERTg Al
(2)  Gujarat (2) ORI A
(3)  Rajasthan (3) ORI A
(4)  Bengal @) dma A
I55. The Battle of Plassey was fought in - 155. IR} @1 gy oISl AT T
(1) 1757 AD 1 1757% ¥
(2) 1857 AD (2) 1857%.
(3) 1750 AD 3) 17508 #
@) 1764 AD 4) 17648 -
156. “The Doctrine of Lapse” policy is associated 156, “faera @ Ry =g T —
with -
(1) Robert Clive (1) <fae Fomgd gRl
(2) Warren Hastings (2) dre RS g
(3) Lord Dalhousie 3) e goralell grl
(4) Lord Hastings @) < eRET BN
157. The Permanent Settlement was brought into  157. WS dravd FIAT 1] o T o —
effectin -
(1) 1793 AD (1 1793¢. %
(2) 1790 AD (2) 1790%. %
(3) 1822AD (3) 1822%. %
(4) 1850 AD @) 1850%. #
158. Where was the first Cotton Textile mill 158. WRd ¥ Yo il dusl A dal wnifud gg?
established in India? .
(1) Bombay (1 T
(2) Kanpur (2) TR
(3) Delhi 3 fReh
(4) Calcutta _ (4) DD
159. When was Arya Samaj established? 159. IR HATA B RAUAT Be :5:%7
(1) 1850 AD (1) 1850
(2) 1875AD (2) 1875%
(3) 1856 AD (3) 1856%
(4) 1880 AD (4) 1880 g
160. The Haveli of Patwon are - 160. Ucdi B gl & —
(1) in Jaisalmer 1) SR H
(2) inJodhpur (2) <iEgR H
(3) inJaipur 3) AR H
(4) in Udaipur @ SR 3y
NMMS Page 26 of 32
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MATHS

MATHS v ,
161. Multiplicative inverse of -13) is - | ML II_.EI
(1 13 61. (-13) &1 ol gfaey & —
13 @ |
3 L [E
13 @) 1
4) -13 13
4) -13
162. If x = 2, then the valye of 4(x
=3)+6 162. =R} x = - ;
- iﬁ;x 2 B, W 4x-3)+6 T AA
n 2 -
1) 2
2 -2 EZ)
) -2
3 0 & 0
@ 1 @
163. Symbol V' is used for the following- 163. W v @1 SwanT fre @ e v s
z -
(I) Square 1)
(3) Cube root @)
4) SQUgre root | | : @) i@ |
164. Curve which is not Polygon - - 164, TH S I TEI ® —
() . ' (1) i j
(2) 2)
@ =
4
@)

" . Pﬂ e 27 0f32
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165, Value of x° in the given figure is — 165.

(h
(2)
3
C)]

60°
70°
S0°
80°

166. In a square - 166.

(1)

“)

All qualities of parallelogram are
found. ‘

All qualities of rhombus are
found. _

All qualities of rectangle are
found.

All of these

167. Marked price of mobile is T 8400. If itis sold  167.
at T 7140, then the discount percentage is -

1M 15%
(2) 40%
3) 30%
4) 20%
168. Mode of the given data is — 168.
13,12,14,12,16, 15, 12,14, 12, 13
(1 14
(2) 13
3) 12
4) 15
169.  Multiplication of 4P and -8P is - 169.
(I 32p
(2) -32p?
(3) 32p?
4) -48Pp

R R ——

(1)
(2)
(3)
(4)

60°
70°
50°
80°

um it W —

(n

(2)
(3)

)

WR TS B @ O 9 S
i

RO & w07 A S ¥
AT B FH IO gIY AT E |

Suact w4t

84002 ST T A HATEA B 71402

¥ 991 WY, a1 9T ufava 8 —

1) 15%
) 40%
3) 30%
@) 20%
fu Ty aifwet @1 aged B —
13,12, 14, 12, 16, 15, 12, 14, 12, 13
1 14
@ 13
3 12
@ 15
4P TG - 8P FT UG & —
(1 32p
2) -32P
@ 2P
@) -48P

Page 28 of 32

Scanned with CamScanner



170.

171.

172.

173.

174.

l7o

w

NMMS

If the area of 4 triangle is 52 o2

is 13 cm, then it height will pe

() 6cm
(2) 7cm
(3) Scm
4 8cm

The length of side of
area is 150 cm? js -
(1) 5V6cm
(2) Scm
3) 25cm
4 6cm

If24:x=12:18, then the value of x is -
(1) 36 '
2) 24
3 12
4 18

Common factor of lOf)q, 20qr, 30rp is -
(1) 10q
(2) 10p
3 10

- (4) 10r

Coordinate of origin point is -
1 @,n
2) (1,0
3 O
@ (0,0

Value of 5° + 5° is -
1 5 2 0
3 1 @ 25

and its base

170,

a cube whose surface 171.

172.

173.

174.

175.

afe famt Brgw @1 eEwa 52 A2 E qon
SHET AqER 13 AL B, d IS FAE
arft —

() 6%

(2) 734

(3) suH

@) 8y

150 902 gedyy &Amel drel ® @l e
F ars gl —
(1) sveuH.
(2) 53
(3) 259A
@ o631
gfd 24:x=12: 18 81, @I x &1 AF &M —
(1) 36
(2) 24
3) 12
) 18
FIOpq. 20qr, 30rp G [UFETS -
(1) 10q .
(2) 10p
(3) 10
4) 10r
T fag @ frdwie € -
I 1,0
2) (1,0
3 (O
4 (0,0
$3 -5 @AM E -
a s 2) 0
3 | 4 25
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numbers

176,

178,

179,

180,

i et el

iy W
(M IR

(2)
(4

20

U]

v 'l'\l”l "“U'M 1|+l '*"l-‘l |J,n]r rl;-]lr[ J]". 'Hl'H

& oaw A

(n 0"

(2) 5"

3y o

(@) 1807

Ay x = <3 B, 7 @G 28 - 37w A
MU

(2 (2) 16

Yy 12 4y -2

A2 00, @i arer ga @) alky e -

(1)
(2)
3)
)

qfdiyy

3

-
(n

(2)
(R)}

()

132 0.,
66 0.9,
84 901
1386 0.9

P -2 -4 \
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